Installation Instructions

Evolution® Full Height Mid-Panel Kits

Intended Use Double-Sided
The Double-Sided Full Height Mid-Panel kit is intended to be used

in the EvolutionE Double-Sided Cable Manager only. Ensure you

M5x12 Taptite Screw, 8 ea.

)

4

/) i1 /4 /o
WA
YO O DD O

Installation

The Double-Sided Full Height Mid-Panel kit attaches using the
mounting holes on the manager side panels. Note: the arrow
cutouts should point upwards. As well, the top component has a
‘T' underneath the arrow, to signify 'Top'.

T

DETAIL B
SCALE1:3

Wi

have the correct Full Height Mid-Panel kit height and width to ‘ / 7
match the manager height and width. Z i Z

¢ A -
Note: The Double-Sided Full Height Mid-Panel kit is only available Z : Z N
for 10"W and larger cable manager sizes. Z % \
Tools Required % é DETAIL A RN
#2 Philips driver Z % SCALE1:3 N

. ~
Parts Included % é S

Z . N
Full Height Mid Panel kit upper component, 1 ea. % % N
Full Height Mid Panel kit lower component, 1 ea. /% % \

_

Z

/

/

/

/

7

Z.

Z

/

Wi,

i

N

1. Fasten Full Height Mid-Panel kit lower component using the
M5x12 screws (4 screws).

2. Hang the Full Height Mid-Panel kit upper component on the
cross member of manager.

3. Fasten the Full Height Mid-Panel kit upper component using the
M5x12 screws (4 screws). Adjust the lower component if
necessary to minimize the gap between panels.

8X M5x12 TAPTITE SCREW/

[1IS-733544, 12/18/23, Rev. 2, CIEI/BJ |
800-834-4969 (USA & Canada) A www.chatsworth.com A techsupport@chatsworth.com
[: H AT S W [] RT H P R [] D U CT S For international phE)ne numbers, see our)website or contact CPI Tech Support. PP @

This drawing contains proprietary and confidential information and is protected by U.S. and international law. Unauthorized reproduction, disclosure or use of the drawing or
the information therein is expressly forbidden except as agreed to in writing by Chatsworth Products, Inc.

Page 1 of 2



Installation Instructions

Evolution® Full Height Mid-Panel Kits

Intended Use

The Single-Sided Full Height Mid-Panel kit is intended to be used in the
EvolutionE Single-Sided Cable Manager only. Ensure you have the correct
Full Height Mid-Panel kit height and width to match the manager height
and width.

Note: The Single-Sided Full Height Mid-Panel kit is only available for 10"W
and larger cable manager sizes.

Tools Required
#2 Philips driver

Parts Included

Full Height Mid Panel kit upper component, 1 ea.
Full Height Mid Panel kit lower component, 1 ea.
M5x12 Taptite Screw, 8 ea.

Installation

The Single-Sided Full Height Mid-Panel kit attaches using the mounting
holes on the internal mid-panels. Note: the arrow cutouts should point
upwards. As well, the top component has a 'T' underneath the arrow, to

signify 'Top'.

1. Fasten the Full Height Mid-Panel kit lower component using the M5x12
screws (4 screws), using the lower holes on the internal mid-panels.

2. Hang the Full Height Mid-Panel kit upper component on the cable
manager cross member and fasten the component using the M5x12
screws (4 screws), using the upper holes on the internal mid panels.
Adjust the lower component if necessary to minimize the gap between
panels.

\

MININN

\

AT

DN

\

MNNNNNNN

I
A

Y/

W

X =

72
A\

Single-Sided

U

Y

{;

DETAIL C
SCALE1:3

DETAIL E
SCALE1:3

A//}

X7
V
\

8X M5x12 TAPTITE SCREW

\_ et

T

Page 2 of 2






